
ATLAS SCT Scan Comparison - log scale
Run 1686   Scan 1   Module 0   Stream 0 (Projection of ch 0 to ch 767) vs
Run 1686   Scan 1   Module 0   Stream 1 (Projection of ch 0 to ch 767)
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Module 0 0170200003 Stream 0 THRESHOLD (mV) Scan Constant =  1033 +- 11.85 

Mean     = 7.319 +- 0.3811 

Sigma    = 14.36 +- 0.2138 

Module 0 0170200003 Stream 0 THRESHOLD (mV) Scan Constant =  1033 +- 11.85 

Mean     = 7.319 +- 0.3811 

Sigma    = 14.36 +- 0.2138 

THRESHOLD (mV)0 50 100 150 200

Lo
g(

oc
cu

pa
nc

y)

1

10

10
2

10
3

Module 0 0170200003 Stream 1 THRESHOLD (mV) Scan Constant =  1036 +- 11.87 

Mean     = 7.324 +- 0.3813 

Sigma    = 14.37 +- 0.216 
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